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oAIZtRI=EH(18EE)
14,8202+ 1. 541 1H+20A1 2+ 128 5,336
oORIZ2:E(315E)
18,300 <24« 1H*15A1 2t 123 6,621
0 ORI2R4E(1888)
14,8202 24 x 1B *15A 2H+ 128 5,336
0 FY2R+E(B1E8E)
18,390 *1.541«1H+BA| 2t 122 2,649
osdIRH(182E)
14,8203 1. 54 x 1B +BA| 2++ 123 2,135
o =AMl 140,000 x2H 122 3,360
o HEFIHIBIEE)
1,945,550« 1 *23] 3,892
o HEFIIHI(18ES)
1,528,240+ 1523 3,057
0 B2+ (3158)
1,621,203« 1523 3,243
0 B2+Y(18E )
1,273,540« 1 *23] 2,548
0 HZ2+EINZ(3153)
130,000& 1= 123 1,560
0 F2+YINIZ(1883)
80,0003« 12« 12& 960
otE=E 40,0002 1~ 123 480
oAE = 140,000 x2H* 122 3,360
o &2 2| 70,0002 2~ 122 1,680
0 ==H| 120,000 »2%H 123 2,880
o X EMGF 50,0002 * 18« 123 600
201 ZEt2 & 3,800 3,800
01 Ar2eltl 3,800 3,800
OYEZZX = 2,400
o228 HE2ZN SEHI
8,000& *4H x50 1,600
ootr=EEL HEAZZN SEH
8,000 x2H +50 800
OSRA(RIH) 22X L= 1,400
o EE2E ¥ II=H|
200,0002 4B *13] 800
o EZ=F2eld L=
200,000& *x1E*13] 200
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SA AF
M AEd FHEE &4
SRl Al 2 FHEZ EH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 19,500
geide HMEE NFAS 27,400 0 27,400
Al 13,700
- 13,700
401 Al HIZL S 0HYI 27,400 0 27,400
Al 13,700
T 13,700
01 Al&H| 27,400 0 27,400
Oerddd 89 27,400,000 27,400
Al 13,700
- 13,700
=D =2 XA 16,910,837 16,996,777 914,060
= 15,126,270
Al 1,227,885
- 556,682
NASE I ZdE2E NFAS 16,780,077 15,898,777 881,300
= 15,102,070
Al 1,174,605
- 503,402
F=Ha 16,780,077 16,898,777 881,300
= 15,102,070
Al 1,174,605
- 503,402
301 EtE N = 16,329,426 15,547,435 781,991
= 14,696,484
Al 1,143,060
- 489,882
01 AR 2EHSHS(RNEERTH) 16,329,426 16,547,435 781,991
OFHsN 16,329,426,000& 16,329,426
= 14,696,484
Al 1,143,060
- 489,882
308 XXM SO0IH 450,651 361,342 99,309
= 405,586
Al 31,545
- 13,520
13 SI12S0He 4 EAS A 450,651 361,342 99,309
OFNHEU (== XHI) 450,651,000 450,651
= 405,586
Al 31,545
- 13,520
NAESE F=HEE K& 130,760 98,000 32,760
= 24,200




SA AFY
HY: WD\ ZMBEE U
el NASE FHEd A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 53,280
T 53,280
SRS UOHIHE SSHII2=s N 82,360 60,000 22,360
Al 41,180
- 41,180
307 elztol & 82,360 60,000 22,360
Al 41,180
- 41,180
11 AMEISXAEEXS 82,360 60,000 22,360
OYTYUHOIIE BEHIILS XIRA
82,360,000 82,360
Al 41,180
- 41,180
NS HOHQ FEHIHEAIS 38,000 38,000 0
= 19,000
Al 9,500
- 9,500
301 2= 38,000 0 38,000
= 19,000
Al 9,500
- 9,500
01 Al EE A S(FRDEEMA) 38,000 0 38,000
OZFO0HQl BN AL 38,000,000 38,000
= 19,000
Al 9,500
- 9,500
BIEAAM HZ=X OIAHl X2 AHS 10,400 0 10,400
= 5,200
Al 2,600
- 2,600
301 EtE N = 10,400 0 10,400
= 5,200
Al 2,600
- 2,600
01 A2 HSFS(RNEERTHE) 10,400 0 10,400
OBIE &KX HZ=AF OlAtEl X2 AHY
10,400,000 10,400
= 5,200
Al 2,600
T 2,600
HH2AZH(ASF) 33,444 29,027 4,417
[2Z2HI(A=m) 33,444 29,027 4,417
JlE2ZHl NSAIS (A=) 33,444 29,027 4,417




SN ASD
T BHSAAY|(ASD)
Chel: = (A=) (ol a2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
201 LB-2AH| 17,484 15,153 2,331
01 AtR2telt] 17,484 15,153 2,331
Oget=ZH| 54,5002 *15% * 122 x90% 8,844
O=gt| 8,000 x15Z 64« 12& 8,640
202 044 12,960 8,424 4,536
01 =ZLHOdH] 12,960 8,424 4,536
O=&0d| 10,0002 * 155 *8 * 12 *90% 12,960
203 AR F=&lH| 3,000 3,240 2240
M PA2IHRFAL 3,000 3,240 A240
ORN2IYRFL| 250,000 =128 3,000




H & 0l & AHS B Ml A

SM ZAI=E
M s Fe2s) KA
el s A 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAI=E 1 9,779,917 7,150,979 2,628,938
= 2,900,000
Al 4,147,800
- 2,732,117
ety F=EEs xd 9,578,459 6,957,211 2,621,248
= 2,900,000
Al 4,147,800
- 2,530,659
ST N 2l 838,579 802,481 36,098
Al 103,000
- 735,579
ST |A2el X 632,579 652,481 219,902
201 Ler=23 | 26,079 20,481 5,598
01 At2teltl 26,079 20,481 5,598
OBSFUNAMIS S 5HA™S| 28
70,0002 x6 2 +33] 1,260
Oz A& 200,0003 4 *12|x3 2,400
OxX=2et X2 =2 200,000 »4824 9,600
OZclH & 2EE =g
200,000 #3214 600
OSSFH AEFH JIsAt A24l
351,450 210 7,029
OFHAHLEY M FH Iz At A24|
432,440 x3L x2E +23] 5,190
308 AHXIEMSOIH 6,500 7,000 A500
18 SIS0t oA AS A 6,500 7,000 A500
OYFNUES|e e NF(2ete! ux)
4,000,000& 4,000
odd & s 2,500,000& 2,500
402 2I2F X201 & 600,000 600,000
01 SIRINESASE X (XHMITHR) 600,000 600,000
OZsxe2el Nd= 600,000,000 600,000
2 SSFY AEE XIE A 186,000 140,000 46,000
Al 93,000
- 93,000
402 2I2FX+=01 & 186,000 140,000 46,000
Al 93,000
- 93,000
02 QI XHE AL E R (01X THE) 186,000 140,000 46,000
OL% IS8 AIZME XM
186,000,000 186,000
Al 93,000
- 93,000
SSTH 2l SAA 2REE HEAY 20,000 10,000 10,000




SM ZAI=E
M s Fe2s) KA
el s A 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,000
T 10,000
402 QIF X201 & 20,000 10,000 10,000
Al 10,000
- 10,000
02 QI A2 AL E R (0IHTHE) 20,000 10,000 10,000
OSSFH 22l SAL 22&d Hd A
20,000,000 20,000
Al 10,000
- 10,000
CATHY & FEHSY Aot 8,739,880 6,154,730 2,585,150
= 2,900,000
Al 4,044,800
- 1,795,080
CAITHAAIY & sy 2A2l5) 2,000 27,230 N25,230
203 =4l 2,000 1,800 200
03 A=A H R FZ| 2,000 1,800 200
OZAIFES A =& 2,000,000& 2,000
SIS TAITHA FE ALY 5,800,000 2,000,000 3,800,000
s 2,900,000
Al 1,450,000
- 1,450,000
101 ©1AH| 94,356 128,730 AN34,374
Al 47,177
- 47,179
M ORNZZ2NSE S 94,356 128,730 N34,374
OJIZtMZ22 X S0 (HE ) 53,406
oJlZ2= 168,940 x232 1201 & 43,868
Al 21,934
- 21,934
oFF=¢ 158, 03 #4120 2 7,630
Al 3.815
- 3,815
o dXtRExE 1,907,280 1,908
Al 954
T 954
OJIRIMZ2X 20 (Z2CIUI0IE) 40,950
oJlZ2=s 121,870 232« 12043 1L 33,637
Al 16,818
- 16,819
oFm+Y 121,870 x4+ 1242+ 18 5,850
Al 2,925
T 2,925




A SAIFED
M s Fe2s XA
SRl EAITHY S =EEE HAs) (Gt H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
o HirE+E 1,462,440 1,463
Al 731
- 732
201 er=23y| 35,000 62,270 N27,270
Al 17,500
- 17,500
01 At 22|l 35,000 60,000 /25,000
O 24 35,000
oM Xtz 1,250,000& « 1290 & 15,000
Al 7,500
T 7,500
o dIE 23| 20,000,000& 20,000
Al 10,000
- 10,000
401 AIEHIZ SR OHYI 5,670,644 1,809,000 3,861,644
[ 2,900,000
Al 1,385,323
- 1,385,321
01 AlIZHI 5,558, 166 1,809,000 3,749,166
OAIZH| 5,558, 166
oSEIOIS AMuNRA HESAM
4,621,281,000& 4,621,281
= 2,375,318
Al 1,122,982
- 1,122,981
02 S JIEAIE BAt
936,885,000 936,885
s 468,443
Al 234,221
- 234,221
02 2l 100,000 0 100,000
Ozl 100,000
ogulls dduFA HESA 2l
100,000,000 100,000
= 50,000
Al 25,000
T 25,000
03 A2 THYI 12,478 0 12,478
OAI4 2THYI 12,478
o SEIOIS AMURA HEIAM AIERH
af 4,621,281,000&+0.27% 12,478
[ 6,239
Al 3,120
- 3,119




SM ZAI=E
M s Fe2s XA
SRl EAITHY S =EEE HAs) (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ODIEFe2elh 22 110,000 110,000 0
Al 55,000
- 55,000
201 er2 3| 47,000 47,000 0
Al 23,500
- 23,500
01 AtR2t2|HI 4,000 4,000 0
O=2gHl 4,000,000& 4,000
Al 2,000
- 2,000
2 S5=2g4l 3,000 3,000 0
Ottex8zels Bz S
1,500,000 #2942 3,000
Al 1,500
- 1,500
03 A= I 40,000 40,000 0
O&=xcl u=s 24| 20,000, 000& »23] 40,000
Al 20,000
- 20,000
301 2eEN= 1,000 1,000 0
Al 500
T 500
11 dAMEEIXIZE S 1,000 1,000 0
OXESAL =8t S 1,000,000& 1,000
Al 500
- 500
401 Al HIZ S OHbI 62,000 62,000 0
Al 31,000
- 31,000
01 AlZ8| 62,000 62,000 0
=cl X3 40,000,000 40,000
Al 20,000
- 20,000
ORolete 24|
5,500,000 *47H 2= 22,000
Al 11,000
- 11,000
ZHIAG 2l 48,900 9,500 39,400
201 et 3| 48,900 9,500 39,400
01 At22t2l] 48,900 9,500 39,400
OMASAE SXIZA
10,100,000 *40H 2 40,400
o, & MH=EHd 23 8,500




A TAIFED
M s Fe2s XA
SI9l CAITNAY o FeEE 2AAs (cre:xigl)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
0BT RHe+Y
216,220& x4 H*43| (Z7]) 3,460
oAtE ttale| =%
70,0003 %18 *43| (Z7]) 5,040
HIR0E 2SS MESFHKX MEA 530,000 2,144,000 A 1,554,000
Al 531,000
- 59,000
201 LBr2| 2,138 80,780 11,358
Al 82,926
- 9,212
01 ArR2eltl 86,138 69,780 16,358
OZNHEZ2 29 86,138
o N&EZ2H AX= 720,0002 1204 8,640
Al 7,776
- 864
o022l 450,000+ 1200 & 5,400
Al 4,860
- 540
0 ZZACIYI0IE 2
389,200 x4 1204 & 18,682
Al 16,814
- 1,868
0 2UIUI0IE =2
202, 1002 x 132~ 1200 & 31,528
Al 28,376
= 3,152
0FUEEI} 2
19, 0003 #48AI 2Hx2ZF 1201 = 21,888
Al 19,700
- 2,188
03 SAt2GH] 6,000 10,000 24,000
OFAS2UTAIS 3,000,000 23] 6,000
Al 5,400
- 600
301 LPENZ 1,000 2,000 21,000
Al 900
- 100
11 HALAHIXI A2 1,000 2,000 A1,000
OSEAL2E XA 500,000 & *23| 1,000
Al 900
- 100
401 A& HILS0HY| 496,862 2,061,220 A1,564,358
Al 447,174
- 49,6838




A SAIFED
M s Fe2s XA
SRl EAITHY S =EEE HAs) (Gt H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 Al&HI 496,862 2,037,830 1,540,968
OJIgAIE EH] 496,862,000 496,862
Al 447,174
T 49,688
sls HZ0IS IHSAY 590,990 0 590,990
Al 573,300
- 17,690
201 =3 116,258 0 116,258
Al 104,633
- 11,625
01 AfR22IH| 61,058 0 61,058
OESI} egsd 51,408
o ZZACIHOIE
390,000 x 1 4L« 12H & 18,720
Al 16,848
- 1,872
0 MEACIHIOIE]
227, 0003 x1E 122« 1204 E 32,688
Al 29,419
- 3,269
OARESZHI 1,780,000 1,780
Al 1,603
- 177
Os2H| 7,870,000& 7,870
Al 7,083
T 787
03 A2 I 55,200 0 55,200
O=2lggdatus 25,000,000 25,000
Al 22,500
- 2,500
OF2 NS ZALE 4,000,000 4,000
Al 3,600
- 400
O 240t2tHI0I 3,000,000& *22 6,000
Al 5,400
- 600
OE & Al 200,000 200
Al 180
- 20
OJIEr BAL2SHI(DIE=H, 29 S)
4,000,000 52} 20,000
Al 18,000
- 2,000
301 EtE NS 3,650 0 3,650




SM ZAI=E
M s Fe2s XA
SRl EAITHY S =EEE HAs) (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,285
T 365
11 dAMEEIXIZE S 3,650 3,650
OAHEDI, At &) MBI & CHXIA 3,650
oAl 8,000&+20& x153] 2,400
Al 2,160
- 240
o Ctat 5,000&+258 %102 1,250
Al 1,125
- 125
401 Al HIZL 201 471,082 471,082
Al 465,382
= 5,700
01 A&l 446,082 446,082
OZUBE0IBAIE ZH S JIBAILEY)
414,082,000 414,082
Al 414,082
O&8HlAHE =8 7,000,000 7,000
Al 6,300
- 700
OJIZ2EH & &AEN 25,000,000 25,000
Al 22,500
- 2,500
02 Zeltl 5,000 5,000
OZUBS0IBAL ZH ZAL 22
5,000,000& 5,000
Al 4,500
- 500
03 AlESTHYI 20,000 20,000
OFUES0ISAE =4 AIZ=0YI
20,000,000& 20,000
Al 18,000
- 2,000
H=1s A=0IS IS AY 1,201,990 1,201,990
Al 1,188,000
- 13,990
201 er23| 116,258 116,258
Al 104,633
- 11,625
01 AtR2t2lHl 61,058 61,058
Od2tzg+d 51,408
oEZRCIUI0IH =&
390,000 x 1 x4 * 1201 2 18,720
Al 16,849




SM ZAI=E
M s Fe2s XA
SRl EAITHY S =EEE HAs) (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,871
0 MEACIHIOIE]
227,000« 1= 122+ 1204 = 32,688
Al 29,419
- 3,269
OAte=ESHI 1,780,000& 1,780
Al 1,602
- 178
O=2H| 7,870,000 7,870
Al 7,083
- 787
03 A= &I 55,200 55,200
O=2lggdatus 25,000,000 13 25,000
Al 22,500
- 2,500
O=F2IMtS ZA 4,000,000 *12 4,000
Al 3,600
2 400
Y ENE ] 3,000,00024%23] 6,000
Al 5,400
- 600
O ZE Al 200,000 12 200
Al 180
- 20
OJIEr HALZSHI(DFE=HI, 29 S)
4,000,000 52} 20,000
Al 18,000
- 2,000
301 EtE NS 3,650 3,650
Al 3,285
- 365
11 dAMEBIXNIE S 3,650 3,650
O#AHHEII, A S) A8l & Chat XA 3,650
oAl 8,000& x20& *153] 2,400
Al 2,160
- 240
o Ctat 5,000 x25& *102] 1,250
Al 1,125
T 125
401 AlEHIZ 2 0HbI 1,082,082 1,082,082
Al 1,080,082
- 2,000
01 A28l 1,062,082 1,062,082




SM ZAI=E
M s Fe2s XA
SRl DAY R FERE HAst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oolxzzg &3 2 AR
1,062,082,000& 1,062,082
Al 1,062,082
02 2l 5,000 0 5,000
OB 2d SAt 2l 5,000,000& 5,000
Al 4,500
- 500
03 Al 2 THHI 15,000 0 15,000
OU%F2Y BA ALY
15,000,000& 15,000
Al 13,500
- 1,500
NEFHX E=2l NFAS 396,000 0 396,000
Al 247,500
- 148,500
402 2IF X201 & 396,000 0 396,000
Al 247,500
- 148,500
02 QI X2 AL E R (01X THE) 396,000 0 396,000
OMEFHA &2l NEA
12,000,0002 332 396,000
Al 247,500
- 148,500
HH2IZHI(ZAIFHL) 201,458 193,768 7,690
QI 2HHI(CAIFED) 165,384 163,864 1,520
QA2 NSAIL(ZAIFEHDL) 165,384 163,864 1,520
101 @124H| 163,809 162,289 1,520
02 JIEtME = 163,809 157,196 6,613
OAIZIEERIZIIN "CH'S 109,824
oJlZ2=s 3,354,500 «2F 122 80,508
o Mg 140,000& x2&~ 123 3,360
CESN =g b
11,3103 x30AI 2H+2E+ 123 8,144
o SItE &I 403,550 x2H 808
e ] 161,010& 22~ 123 3.865
0 tE=g 140,000& x2&~ 123 3,360
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401 AIEHIZ SR 0HYI 206,900 200,900 6,000
01 Al&H| 206,000 200,000 6.000
Otz A A
206,000,000 206,000
03 A2 THYI 900 900 0
OAI4 2THYI 900,000 900
L= JiE24 SHESAY 40,000 40,000
401 Al HIZ S OHbI 40,000 40,000
01 AlZ2H| 40,000 40,000
OL® Itz =2|oaxe ¥ 955 i
SAt 40,000,000 40,000
HISWUZ HigZds ZEAMY 1,400,000 0 1,400,000
= 700,000
Al 360,000




2A:

SE=X1

M CAI=R _+7E/§ 2 2l
=elr JiE=sAl & ot2s 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 360,000
401 AIEHIX 20 1,400,000 0 1,400,000
= 700,000
Al 350,000
- 350,000
01 Al&H| 1,400,000 0 1,400,000
Otz S22l =Xat At
1,400,000,000& 1,400,000
= 700,000
Al 350,000
- 350,000
SAsY Jlgt x4 288,837 521,876 A233,039
CAs" |54 & 288,837 521,876 A\233,039
ot 23 79,800 147,160 A\67,360
201 2= 46,700 105,160 A58,460
01 AfR22IH| 8,000 8,000 0
OOEIHE B0 o oHjm
4,000,000 4,000
Ou=s 18 ¢ 1,500,000 1,500
oozt ext= 2,500,000 2,500
03 A2 I 38,700 89,000 250,300
O0EENS 2Ae=E 8,700,000 8,700
Ostitsad =, Jte 2 dAl
20,000,000 20,000
Oo0igtE &AlE 10,000,000 10,000
206 M=l 26,500 30,000 A3,500
01 M=4l 26,500 30,000 23,500
OAEehted x4 4,000,000 4,000
Ons(AnEz3na) 7,500,000 7,500
Ons(sHEdany) 12,000,000 12,000
Ong(Arsgnd) 3,000,000& 3,000
301 eEetE2 N = 6,600 12,000 A5,400
11 #AIAHIXIE S 1,600 2,000 A400
OT2Z AL A AH 1,600,000& 1,600
14 JIEt2 8= 5,000 10,000 25,000
OOEIIE G4 RURRAN BE
5,000,000& 5,000
CASE RXEs 93,776 260,000 A166,224
101 @124H| 58,368 0 58,368
MU IIRIMZZENSES 58,368 0 58,368
OJI2HHl 22X 1]
29,184,000& »2H 58,368
201 fet=3| 7,408 0 7,408




2A:

SR =KD

S/

B CAlsY Ol 24
el TAlse =4 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,000 0 1,000
OZAISE S=20hY, 2HU2)
400,000& 400
O&g otLfet 600,000 600
02 S3=gHl 6,408 0 6,408
(OFSPIETE= 5,520,000& 5,520
Osties 888,000 888
206 M=l 8,000 20,000 A12,000
01 MZH| 8,000 20,000 212,000
OXESHEe 2SMEHI 2,000,000& 2,000
OADIEE SXI22 5,000, 0002 5,000
oS |xR W2 PY
1,000,000 1,000
401 Al HIZL 201 20,000 240,000 220,000
01 Al&H| 20,000 240,000 220,000
OZASE ALE=ZA 20,000,000 20,000
AepAlgotd 2| S SEHSHY 2 A 55,261 54,716 545
308 AHXIEMSOIH 55,261 54,716 545
18 SIS0t HAS A 55,261 54,716 545
OBTH=HY FSHAI
55,261,000 55,261
Hets SEZHSSAT ZEAE 60,000 60,000
201 223 10,000 10,000
02 35284l 10,000 10,000
OEdH 2l S AIZ&Hl |l
8,000,000& 8,000
==l 2,000,000& 2,000
206 MH=H| 10,000 10,000
01 M=4l 10,000 10,000
oHlz=¢ 3,000,000 3,000
ORME, 2ARASTHHY
7,000,000 7,000
401 Al HIZL 201 40,000 40,000
01 Al&H| 40,000 40,000
O=eIEy 20,000,000& 20,000
OougoI sy 20,000,000 20,000
SEE 2554 1,611,061 1,958,642 347,581
= 214,694
Al 293,672
- 1,102,695
SHEES XE 1,004,713 1,175,334 170,621
= 157,994
Al 81,662




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 765,057
BLIFASSE YHAE 180,000 180,000
N CEESTT 180,000 80,000
01 Al&H 178,700 178,700
OBLISAISSE SHIAY
178,700,000 178,700
03 A2 20HHI 1,300 1,300 0
OAIE20HHI 1,300,000 1,300
LBHGS LN (NS S) 41,380 45,550 24170
= 20,990
Al 6,117
- 14,273
401 AlEHIZL S0 41,380 45,550 24170
= 20,990
Al 6,117
- 14,273
01 Al&HI 40,280 45,000 AN4T0
Ot sl 40,280,000 40,280
= 20,693
Al 6,045
- 13,542
03 Al 20HHI 1,100 550 550
OAIZ20HHI 1,100,000 1,100
= 297
Al 72
- 731
AU SE LM (L LIRFAL) 8,559 14,964 6,405
= 7,080
Al 444
- 1,035
401 AlZHIZ SO 8,559 14,964 6,405
= 7,080
Al 444
- 1,035
01 AlZH| 8,559 14,964 26,405
OaLe S 2l 8,559,000& 8,559
= 7,080
Al 444
- 1,035
e =382 A 5,000 5,000 0
= 2,500
Al 750
T 1,750




A SE=AL
I NANE 2554
&t MEEs XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 5,000 5,000 0
= 2,500
Al 750
- 1,750
01 Al&HI 5,000 5,000 0
Oz =388 X2 5,000,000 5,000
= 2,500
Al 750
- 1,750
A=Y AR Y 51,800 51,800 0
201 2egh=3| 1,800 1,800
01 At2t2ltl 1,800 1,800
Oalsg Al S| 800,000 800
Osl+=% S FHl 1,000,000 1,000
401 Al HIYL S CHYI 50,000 50,000
01 AlZ2H| 50,000 50,000
AT S2ATHZA
50,000,000 50,000
=t30| 10,414 189,850 A179,436
= 5,207
Al 1,562
- 3,645
401 Al HIZ R 0HbI 10,414 189,850 A179,436
= 5,207
Al 1,562
- 3,645
01 AlZH| 10,414 189,300 178,886
=R 10,414,000 10,414
= 5,207
Al 1,562
- 3,645
A 24,100 22,000 2,100
= 12,050
Al 3,615
- 8,435
401 AlEHIZ 2018 24,100 22,000 2,100
= 12,050
Al 3,615
- 8,435
01 Al&H| 23,900 21,900 2,000
OX=EAH 23,900,000 23,900
= 11,950
Al 3,585




A SE=AL
Hy: MATY BERA
el MEES X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 8,365
03 AlESTHYI 200 100 100
OAIZ 20HHI 200,000& 200
= 100
Al 30
- 70
254+ FHIAE 40,000 30,000 10,000
Al 20,000
- 20,000
401 Al HIZL S 0HYI 40,000 30,000 10,000
Al 20,000
T 20,000
01 Al&H| 40,000 30,000 10,000
OEZ+ JHIAL 40,000,000 40,000
Al 20,000
- 20,000
AH =Al EHI 120,000 120,000 0
401 Al HIZ S OHbI 120,000 120,000
01 AlZ2H| 119,200 119,200
O&tg=AlIEH| 119,200,000& 119,200
03 A& S CHYI 800 800 0
OAIZ 20HHI 800,000 800
SSAHEIHD| 244,176 303,776 A59,600
101 @124H| 232,576 283,776 /51,200
M IRINZZENSES 232,576 283,776 /51,200
OSSAEIHI| 1| 226,176
oJlZ2= 145,920,000 145,920
oFF=Y 29,184,000 29,184
org=dE 43,776,000& 43,776
o girE+E 7,296,000 7,2%
O2tAMH| 6,400,000& 6,400
201 ger=3| 1,600 1,600
01 AtR2te|H] 1,600 1,600
Ou=dl s 100,000 x8& 1 23] 1,600
206 M=l 10,000 20,000 10,000
01 M= H| 10,000 20,000 10,000
OZ34t&It30| M=l 10,000,000 10,000
S IR 54,240 0 54,240
= 27,120
Al 8,136
- 18,984
401 Al HIZL S 0HYI 54,240 0 54,240




A SE=AL
I NANE 2554
&t MEEs XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 27,120
Al 8,136
- 18,984
01 Al 54,240 0 54,240
OSEIHRI| 54,240,000 54,240
= 27,120
Al 8,136
- 18,984
AHETHOH L Ktel SI(AMEXS0ILEISITH) 148,091 144,674 3,417
= 89,237
Al 26,656
- 62,198
101 @12A4H| 142,212 138,786 3,426
= 56,885
Al 25,598
- 89,729
MU IIRIMZZENSES 142,212 138,786 3,426
OttEdEZ0 2t ol2t| 142,212
0 21AH| 127,784,000 127,784
= 51,114
Al 23,001
- 53,669
oEE= 10,828,000 10,828
= 4,331
Al 1,949
- 4,548
02R= 400,0003 9 * 1€ 13| 3,600
= 1,440
Al 648
- 1,512
201 eer23y| 5,879 5,888 A9
= 2,352
Al 1,058
- 2,469
01 At2teltl 4,800 4,811 A1
OtEESIHE gX= 4,800,000& 4,800
= 1,920
Al 864
- 2,016
02 s5=34l 1,079 1,077 2
OUEESIHE =&l 1,079,000& 1,079
= 432
Al 194
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A SE=AL
I NANE 2554
&t MEEs XA (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 1,530
T 3,570
01 AL =S F = 8,500 0 8,500
Odt=d3 JIAIEH AAE SH|l 2
8,500,000& 8,500
= 3,400
Al 1,530
- 3,570
dstEH|ES[ZAEX] 10,178 10,178 0
= 4,071
Al 1,832
- 4,275
201 el 10,178 10,178 0
= 4,07
Al 1,832
- 4,275
01 At22t2l] 10,178 10,178 0
OJHeI & SHEH] 10,178,000& 10,178
= 4,071
Al 1,832
- 4,275
SHEZA 5,760 5,760
201 223 5,760 5,760
01 Al 22IH| 5,760 5,760
Ottgags 22X 24|
5,760,000 5,760
SOot=HEe 29 29,334 28,666 668
= 14,667
Al 10,267
- 4,400
307 elztol & 29,334 28,666 668
= 14,667
Al 10,267
- 4,400
05 2IR”tRIE = 29,334 28,666 668
OROl=xEd 24 29,334,000 29,334
= 14,667
Al 10,267
- 4,400
MEES 29 @ 2elXE 15,000 15,000 0
201 2= 15,000 15,000
01 At2t2lt] 3,000 3,000




A SE=AL
Hy: MATY BERA
Rl MEES XE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtglEs g2= S MA
3,000,000& 3,000
2 ZZ2H| 12,000 12,000 0
Otz itz L JIHE REH|
10,000,000& 10,000
OXlsixteEEsga 2,000,000 2,000
A - =X20F JI2Z4H22 X HE 4,000 4,000 0
201 er23| 4,000 4,000
01 At2t2ltl 4,000 4,000
OJIZtHIZZ2 X HER EHI
4,000,000& 4,000
AZALY & S&tE JH 606,348 783,308 176,960
= 56,700
Al 212,010
- 337,638
=LA Ze|AISE (HEALY) 300,000 300,000 0
Al 195,000
- 105,000
401 AIZHIX R0 300,000 300,000 0
Al 195,000
- 105,000
01 AlZ8| 299,000 299,000 0
OsZxd 2l 299,000,000 299,000
Al 194,350
- 104,650
03 Al 20HHI 1,000 1,000 0
OAIE20HbI 1,000,000& 1,000
Al 650
- 350
StZ =7Al2 74,928 151,888 A\T6,960
101 21A4H| 64,528 141,888 ATT7,360
04 JIZtN2Z2 XS+ 64,528 141,888 AT7,360
Osttz |2l UFY 62,928
oJlEs 36,480,000 36,480
oFm+Y 7,296,000 7,2%
osg=d 10,944,000 10,944
o HirESE 8,208,000 8,208
Ozt 1,600,000& 1,600
201 el 400 400
01 AFR2telHl 400 400
Ooul =l 100,000 x2& 18 23] 400
206 M=l 10,000 10,000
01 MZH| 10,000 10,000




2A:

I NUNE 2554
Rl AIEANE & SA&t2 bl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS4tz |22l M
10,000,000 10,000
Ar-=dlZ +AIZHIAE 100,000 100,000
401 AIEHIX R0 100,000 100,000
01 A28l 99,100 99,100
Od==dIZ +=AZHIA
99,100,000 99,100
03 AlE220HHI 900 900 0
OAIZ20HbI 900,000 900
APEEAR (AEXI AN AlA) 81,000 81,000 0
= 56,700
Al 17,010
- 7,290
401 Al HIZL S 0HYI 81,000 81,000 0
= 56,700
Al 17,010
- 7,290
01 AlZ8| 80,000 80,000 0
OAHZ AN (MRIAHE AIE)
80,000,000 80,000
= 56,000
Al 16,800
- 7,200
03 A& S CHYI 1,000 1,000 0
OAIZ 20HHI 1,000,000 1,000
= 700
Al 210
- 0
SARHF XS RIRe B4ed 420 420
201 2= 420 420
01 At2t2lt] 420 420
O%Igzl F4sg 70,0003 x3E *22] 420
A==oH(EGel) 408 O URAD] FEAY 50,000 0 50,000
206 MH=Hl 50,000 50,000
01 MZH| 50,000 50,000
OMZHl 50,000,000& 50,000
HY2HHH(SR=A) 109,551 101,980 7,571
eIHA2HH(SE =) 73,306 64,282 9,024
ol HH| NRAIS(SR=X) 73,306 64,282 9,024
101 @124H| 49,811 46,679 3,132
03 SR (RINAHA) 222+ 49,811 46,679 3,132
Ozdzeld (1Y) 49,811
0JI22(958) 2,246, 1303« 1H« 122 26,94
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H & 0l & AHS B Ml A

2A: EXEED

Hu: M3 B A
el NHI|B SE LS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXEE 1,882,027 2,120,057 /238,030
= 154,121
Al 120,000
- 1,607,906
S& THAEE A 1,476,682 991,582 485,100
= 154,121
Al 100,000
- 1,222,561
INESPIL=l g 2 iel 839,764 671,380 168,384
= 35,990
- 803,774
KETHEALALY =& 596,949 619,751 N22,802
= 35,990
- 560,959
201 er2 3| 21,783 22,143 A360
= 3,320
- 18,463
01 At 2|l 16,863 17,163 A300
OXHETZEAL JIEE =]
1,620,000& 1,620
= 1,620
OXIEMZEAL 2& 4] 1,700,000& 1,700
= 1,700
OXNHMEAL /133 S =&
70,0002 x6H *43] 1,680
OXEMEAL 2123 S d2kiz R
40,5003 x16E 53] 3,240
OXd=s 2880t ==
39,636 #4772 X|x2H+110% 4,099
OXNEMEA NEEH Y =8
1,300,000 1,300
Oxd=s 0120E 2EEI =8
39,6363 x20 2 K| % 150%+2Z x110% 2,616
OXHIIZE e ==+=2
24,0002 %2300 2% 110% 608
02 S3=gHl 4,920 4,980 260
OsJIRY¥ Q= 4,920,000 4,920
202 04| 1,296 1,296
01 =LHOLI 1,296 1,296
OXIEHZEAL EF 0]
10,000 x2S +6 2 x 122 x00% 1,296
203 HR=H] 1,200 1,233 A33
03 A=A PR 1,200 1,233 A33
OEXEE AIY =& 1,200,000 1,200
301 LEetE N = 540,000 573,357 N33,357




M EXNEED
M HdE REFEE AE
el XIED|g SE2dst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 J|EI2 4= 540,000 573,357 A33,357
OXIETHEZAL ZEZ 540,000,000 540,000
403 XX SHHSA=01H 32,670 21,722 10,948
= 32,670
02 B 2SHICHEH A2 X 2 EFALZ I 32,670 21,722 10,948
OXHMEAISE AT A
32,670,000 32,670
= 32,670
K=zt HigE 2| 18,326 22,482 24,156
201 2E2Z 5,126 22,482 A17,356
01 AFS2t2ltl 3,696 22,482 AN18,786
OEEEE =222
99,000 *30& 2,970
OsgIIEE HEHIE 24,2002 +30% 726
02 3244l 1,430 0 1,430
OXESS22IAAE RX2e
1,430,000& 14 1,430
405 XHAHE SHI 13,200 13,200
01 I = SF =S| 13,200 13,200
OPS==410] 7¢ 13,200,000 *1CH 13,200
DHOLE XHHSY L= 224,489 29,147 195,342
201 e 24,549 29,147 A4,508
01 Ar2eltl 900 900 0
OXIZHYR ARES P (Held <)
900,000& 900
02 23244l 23,649 28,247 24,508
ORSUHZTESRALE 22+ 21,713
O MapPr ime(GISZ 2+l &) 770,000 122 9,240
0GedDT(DISHAIN RSI|BHAIRl)
61,6002« 122 740
00Z Xstudio(Ol2I2J|, ESXI&)
37,4003+ 128 449
0 CubeOne (DB S 3) 173,800& x 122 2,086
o MAHEH RAE(AMH, AECIXI,0BUS)
9,198,000& 9,198
OFsNEE AL 7TXE=
1,300,000& 1,300
OXNEGR g2 BEEEE= 636
0 EXOIS(ZANAHEE IR
317,100& 318
o NH=EH U =HA 317,100 318
405 XHetE S| 199,940 199,940
01 IR =SFSHI 199,940 199,940
ORSUSESFAIAE AW
199,940,000& 199,940




A EXNEE
Hu: M3 B A
el EXEE ologt 3= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXNEE Qlmet 25 49,190 47,938 1,252
= 18,131
- 31,059
HESAIXDOL 2E & ZE3Al 31,059 31,206 A146
201 fer23| 31,089 31,206 N146
01 AtR2t2|HI 28,059 28,805 AT46
OZ2d&sAZ2 = 1,510
o Z2EEXNE 95,0003 +82 A 760
o Z&SA OIoIH0l
1002 +7,500& 750
OMNESAIXIL MR B2
45,8002 13,5002 X /27 .52 X| 22,484
OHESAIXIL 2ANE dEF=+=
45,8002 x252! X[ *50%+*30f% 172
OHESAIXIL 0124l HEF++5
45,8002 x 100! X|50% 2,290
OEXOIS MEHIIt &+
45,8002 *200& XI*50%+30% 1,374
OEXOIS O128E HE+=8
45,8002 *10& XI*50% 229
2 S52g4l 3,000 2,400 600
OHNESAIXIL 2HENZ2 2RSS
4003 7,500 3,000
IHEZAIXIIE ZA 18,131 16,733 1,398
= 18,131
201 =3 16,931 15,533 1,398
= 16,931
01 AFS2t2ltl 16,931 15,533 1,398
OZ2H 228 7 2,500,000 2,500
= 2,500
OARES 7Y 1,891,000& 1,891
= 1,891
OMEZM(ENSHEANE) ¥ ZHEN R
ol 200,000& %43 800
= 800
OMEZAIXIOH B2
45,0003 43| x250H 2 4,500
= 4,500
OFStOIEESAIRRE A2ltg R0
50,0003 25 +43] 5,000
= 5,000
ORSH JIASAI?E 288
70,0002 x8EH *42] 2,240
= 2,240
202 04| 1,200 1,200 0
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2A:

EXNEE L

M M8 XNEHE A
Rl BS4 SIS A 22l (CHol: &S1)
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